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L’ENSEIGNEMENT PRIMAIRE 503

La racine carrde de 108000 = 330 verges, la longueur du careé et en méme temps la largeur
du champ.  Rép.

La longueur = los % de la largeur.

4 de la largeur = 330 verges

} de la largeur = 330 + 3

4 de la largeur = 330 X4 = 440 verges, Rép.

Autre solution: 1es surfaces des figures semblables sont entre elles comme les éarrds de leurs
cHtés homologue,

Nous avons deux figures semblables une dont les dimensions sont 4 et 3 et la surface 12,
I'nutre dont la surface est de 145200 verges,
2 145200
42 r?
12 145200
16 7?
Multipliant par 1622 on a:
1222 = 145200 X 16
D'oli 2% = (145200 X 16) + 12 = 12100 % 16
Extrayant la racine carrée ona:x =110 X 4 = 440 verges de longueur,  Rép.
145200 + 449 = 330 verges de largeur. Rép.
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LANGUE ANGLAISE
Dictaﬁon and composnion ] was very fond of spending what leisure time he

[ had in making experiments  in mechanies;

SToRY OF Sk Ricuarp ARKWRIGHT, and for a while he was very much taken up

j with an attempt to solve the attractive pro-
blem of perpetual motion,  Although he of
course left the question unsolved, the bent thus
given to his thoughts had most valuable con-
sequences,

Arkwright was a barber. His parents had
been very poor people; and as he was the young-
est of a family of thirteen, it may be readily
supposed that all the schooling he got wus of
the most meagre kind,—if indeed, he over wis Living in the midst of o manufacturing popu-
at school at all. e was of a very ardent | lation, Arkwright was aceustomed 1o hear
temperament, however, and when he once daily complaints of the difficulty of procuring
took a thing in hand, he stubbornly persevered | sufficient yarn to keep the looms employed, and
in carrying it through to the end. of the restriction thus placed on the manufae-

About the year 1760, being then nearly thirty | ture of cotton goods.  Being of a mechanical
vears of age, Arkwright got tired of the sha- | turn, he was led to think how the difficulty
ving, which brought him but a very scanty live- | might be lessened, if not got rid of altoget her,
hood, and resolved to try his fortune in a | Arkwright assisted by a clock-maker of the
trade, where there was more scope for his | name of Kay, soon became so engrossed in
activity, He therefore began business as a | his new task, and so confident of suce w3, that
dealer in hair, traveling up and down the | he began to neglect his regular business,  All
country to collect it, dressing it himself, and | his thoughts, and nearly all his time were
then disposing of it in a prepared state to the | given up to the great work he had taken in
wig-makers, hand. His trade fell off; he spent all his savings

|
He throve so well, that in a short time he was 1‘ in buying materials for models, and in getting
| them put together; and he fell into very oor
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sble to lay by a little money and to marry. He




